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SECTION ‘A’ - SCIENCE & ARITHMETIC

e SR ijﬁt{ /Choose the correct answer :-
10 31eT U IR I 8 e A 971 Fehd § 3 1A &1 38 e & g el & e foveret

FrefaaT i 3geTsar g2
10 men can make a wall in 8days. How many men required to complete the same work in
half day?

(A) 80 (B) 100 (C) 120 (D) 160
Teh SR 20% 3R 5% Te W 25000% & FRget ool Ueh a&] 1 @ledT §| 98 IHAI AIFAT W

2000% & T & 3R 3W 25000% F 977 AT §] 3% 18T R FTelt T WiATed F7 82

A dealer buys an article marked at Rs. 25000 with 20% and 5% off. He spends Rs 2000 on
its repair and sells it for Rs 25000. What is his gain or loss percent?
(A)  21% loss (B) 10.5%loss (C) 195%gain (D) 25% gain

Teh ST & 9T 1000 6.3, e 8, forarent $5 19T 9 8% oTeT W 4 ST & 3R ST gU A

18% WS TN aE el THTRT 14% TS ITCd T & 18% 187 9X oI g% AT £7

A merchant has 1000kg of sugar, part of which he sells at 8% profit and the rest at 18%
profit. He gains 14% on the whole. The quantity sold at 18% profit is:
(A) 500kg (B) 600kg (C) 400kg (D) 640kg

28,24, 37,42, 56,59, 67,28, 15,32 T FATET AT HY

Find the mean of: 28, 24, 37, 42, 56, 59, 67, 28,15, 32
(A) 235 (B) 388 (C) 42.3 (D) 71.2

THRIOT x*-8x+15 = 0 T HA &
The roots of the equation x>-8x+15 = 0 are
A 23 (B) 3,5 (C) 8,15 (D) 6,5

Wmﬁaﬁmmﬁmwgwmﬁﬂﬂ?ﬁﬂwmm o) TfE Freger 18v5sq Ihe
%ﬁﬁm@f?ﬁuﬁm%’?

The ratio of length of each equal side and the third side of an isosceles triangle is 3:4. If the
area of the triangle is 18V5sq units, the third side is:
(A)  8v2 units (B) 12 units (C) 16 units (D) 5710 units

Qrits] Y Y 78T, 3R 248+, TS & FATR] AP HTUR A § Al $8 TR AT 5 I
Tt & TIT fehet=AT <ffe =nfgu?

Shantanu’s cap is in the form of a right circular cone of base radius 7cm and height 24cm.
Find the area of the sheet required to make 5 such caps.

(A) 5000sgcm (B) 2750sgcm (C) 3000sqgcm (D) 2700sqcm
cos’x+sec’ H FIATH A 8.

The minimum value of cos®x+sec? is:
A) O B) 1 (C) 2 (D) 3
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2 TS 31T 4 91 BT AT 16000 TUT & Sfafes 1 @reY 3R 6 9 I e FHIA §1 12 e H

CIEGES
The cost of 2 sarees and 4 shirts is Rs 16000 while 1 saree and 6 shirts cost the same. The
cost of 12 shirts is:

(A) Rs.12000 (B) Rs.24000 (C) Rs.48000 (D) None of these

K T ag F7eT forads farw kx+3y-k+3=0 31X 12x+ky=k, & 3oid g &
The value of k for which kx+3y-k+3=0 and 12x+ky=k, have infinite solutions, is:

(A) O (B) -6 (C) 6 (D) 1
AT fe¥ehret
Evaluate (2x+5) (2x-y) (4X*+y?)

(A) 16" +2y° (B) 16x*—y*

(C) 20x*+y* (D) 16x"—4y*
M a? + b? =234 3N ab =108 ¥, 2. &1 A A1 F
If a? + b? =234 and ab = 108, find the value of 2.

(A) 10 (B) 8 (C) 5 (D) 4
AT F
Solve : 2567 + 17 x3 =7 + 180

(A) 51 (B) 73 (C) 271 (D) 272
ratafaad # 3 5 G O S99 & 92T AT FRaT 1 HehdT &

(@) AT (@) cdfea#A @m SfeEs CIRS L IGRE]
Which of the following can't be used to make a solar cell?

(A)  Silicon (B) Platinum (C) Gallium (D) Germanium
ey I gaerar 3R TS IR A B
() T AR & FEAAT T (@ tafe aier & A™hH W)
(@M  FFaeAeiTer g & &TThd W (@ 9w @
Loudness or intensity of sound depends upon —

(A) Application of metal wire (B) Amplitude of sound wave

(C) Area of vibrating body (D) All the above
degeT HTAA FT S1 ATAH glaT g
(®)  dieT (V) (@) P (A) () e (&) TFeI (T)
The Sl unit of electric charge is
(A) Volts (V) (B) Ampere (A) (C) Coulomb (C) (D) Tesla (T)
Wﬁﬁﬁﬁﬁ%ﬁvmﬁmmmm%z

(@) oEAY @) Iawed () sEed (&) P
The enzyme used in the conversion of fructose into ethanol is:

(A) Zymase (B) Invertase (C) Diastase (D) Fructose
ST | I HTHTT FieT g ?
Which of the following is a measure of velocity?
(A) 30s (B) 30 South (C) 30m/s (D) 30 m/s, South
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AAH Sciel, S 6T T §S &, P ol § ferarar e &1 e e &1 v gqorredy Hrew
ST, AT ST T arIATT
(@) HsrEem (@) (1) UES ST (F) g Aol Hohdl

A thermos bottle containing coffee is vigorously shaken. If the coffee is considered as a
system, then the temperature of coffee will:

(A) Increase (B) Decrease (C) Remain (D) Can'tsay
slightly same
TEAT G & AR I TREAAT el § Fifh Gl AGH R GhifSad aaf srerclt § | 7 g2t
TGHT T PIS PR ALl B
() =TT @) gl w31 gLEAW  (¥) e AL Hehd
The moon revolves around the Earth because the earth exerts a radial force on the moon.
Does Earth perform work on the Moon?

(A) No (B) Yes, (C) Yes, (D) Can't say
sometimes always

qedY & TEcarhyoT oo & fAgdiet feem & wrere arel U avg HT FIT FIAT |

(@) wRaafld (@ RRIT @) e @ Faafy

CICIENG]

An object moving in (upward) direction opposite to the gravitational force of earth performs:
(A) Accelerated motion (B) Motion with constant velocity
(C) Oscillations (D) Retarded motion
s & o) W = G B

(@) g & Feg (@) #Fd TTH PR g

() 3TRTET (&) EYUT HFT Helg
The weight of the body would not be zero at:

(A) Earth’'s (B) During free  (C) Space (D) Frictionless surface

Centre fall

ST 10" gelFrgie Tl Ueh 3SR U Cole & 82T T ST, dl 38 W e d 139 g1 (Fefid):

When 10"electrons are removed froma neutral metal plate, the electric charge on it is

(coulomb):
(A) 10*" (B) +1.6 (C) -16 (D) 10(g4/q2)
T FAER §
() g AR (T) sclleh glel
@)  EET IR CIRERREIE TN E R IEGHIGIE:IG]
A quasar is:
(A) Neutron star (B) Black hole
(C) White dwarf (D) Powerful source of radio radiations
IRA T I, 3 HIET 37 97 ST &1 59 9fshar #1 Fgd &
F) AT (@) arsdieer (@) faaxor (&) TgAd

On heating, solid is directly converted into gaseous state. This process is called:
(A) Sublimation (B) Evaporation (C) Diffusion (D) Condensation
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SECTION ‘B’ - GENERAL AWARENESS

Wﬁ SisEd gﬁq IChoose the correct answer :-

ey 937 I FloT AT § ?

(&) AH (@) Hrel @m T (G) SEEdd
Which is the biggest planet?

(A) Venus (B) Mars (C) Mercury (D) Jupiter
FIdG el A fohdehT Tatt gl A1?

(® 3= (@) fasog @ g (@) B
Who was mainly worshipped in the Rig Veda period?

(A) Indra (B) Vishnu (C) Sun (D) Trimurti
TR T FleTcrs UfAgTTaeh Tel, S 7t QAT & 3ecIs I g, fgegaadl . &l
AT g

) fasor @) e (3T) FToter (&) ST

The greatest monument at Ellora, dating from the late 7" centuary, honours the Hindu God:

(A) Vishnu (B) Shiva (C) Ganesh (D) Krishna

SR JSE I T IS hlet § T H gHT AT?

In which year was the Indian National Congress formed?

(A) 1835 (B) 1885 (C) 1901 (D) 1875
ITSERT ISTATT A7 4 T SIS B

(F) FAISATR (@) HA$-AeeTs

(@) ARG (|1) ST
National Highway No. 4 connects:

(A)  Mumbai-Nagpur (B) Mumbai-Chennai

(C) Nagpur-Hyderabad (D) Bangalore-Mysore
AR 1 7y faegd dfeld ¢ (SeFehet F1eT) & & Telar AT

(%) HIR- TIT (@) grasT-fee

(3T)  FHEATOT- JOr @ AE-Red-d=s
The first electric train of India (Deccan Queen) was run between:

(A) Mumbai- (B) Howrah- (C) Kalyan- (D) New Delhi-

Surat Delhi Pune Chennai

TS HePTEHT & HEATerT Fal 62

@ Al @ e @ o (@) e
The headquarters of Lalit Kala Academy are at:

(A) NewDelhi (B) Chandigarh (C) Pune (D) Kolkata
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rafaf@d 7 & $la a1 RYare! T gifehedr 7 &7

(®) gsour (@) e @M e (') IFARR
Which of the following Indus Valley sites is in Pakistan?
(A) Harappa (B) Kalibagan (C) Lothal (D) Alamghir

goRTser HRergoT  faier 31 s g5 Apfafeas feer arar sgarcl §2
(@) gfawar (@) godlearg () WU (F) AN

The violent uprising of Palestinians against the Israeli occupation is called:
(A) Intifada (B) Hezbollah (C) PLO (D) Hamas

T U8 ®ge ' ATHH JEch [t Tordl?
(F) HUTT (@) FTRAES (1) FAATEER  (8)  FeTH § RIS el

Who wrote the book titled ‘Runs and Ruins’?

(A) Kapil Dev (B) ImranKhan (C) Sunil (D) None of these
Gavaskar
fr e F APE A B

(@ e (@) ggia= @M SHfeaga CIERCEIGER:]
Lack of causes diabetes.

(A) Sugar (B) Insulin (C) Calcium (D) Vitamins
o5 37T fAsTss Tor & 717 | uflg U B

(F) ST @) wET @m & (7) SAATH
The country known as the ‘Land of the midnight sun’.

(A) Japan (B) Sweden (C) Norway (D) Denmark
g g fr @ @ FiT T B

(@) AT (@) AEETT @n  Fafser (') A

The discovery of inert gases is associated with:
(A) JBPriestly (B) Lavosier (C) Cavendish (D) Ramsay

Uk faegd sETHTARATAIded_ . AT gl

(@) sl @) gIred @m a& (&) e
The heater element in an electric iron is made of:

(A) Nichrome (B) Tungsten (C) Copper (D) Iron
ATOTYY kT ISTENAT T 4

() TRrear @ FE @m e (&) aifgaT
Capital of Manipur is:

(A) Shillong (B) Imphal (C) Gangtok (D) Kohima
3i5A 3R APER gfaq ST Tererm #4187

() Eadts @ SeEE (@) UEsR (") U

The capital of Andaman and Nicobar Islands is:
(A) Havlock (B) Jollyboy (C) Port blair (D) Ross
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FAO ¥ &7 arcad g7
(F) S US Wiidhedl HREfATSST2rT (@) TheH U wa mefargaer=
(@) e, e Us A= (F)  heH, Ul U AfAeT
FAQO stands for:
(A) Food and Agriculture (B) Fruits and Agro Organisation
Organisation
(C)  Fruit, Agriculture and Ocean (D) Fruits, Agro and Ocean

dataier Arf  Rerafaf@a F @ g &3 & 39e vgge 9a8?

() difeET (@ Gt (@) ABEveRafEr @) g
In which of the following fields did Tenzing Norgay distinguish himself?

(A) Boxing (B) Cycling (C) Mountaineering (D) Hockey
Arafafed & @ f58 vggw & a1 | ST ST §2

(&) T @ dfaa @M fReer @ S

Who among the following is known as ‘Fuehrer’?
(A) Stalin (B) Lenin (C) Hitler (D) Bismarck

HR T HH T IR R IR 60 T3/ 819 7 §7
(@) FYIT (@) FeR¥U (1) uRGFdme (@) 7% e

The largest and the oldest museum of India is located in the state/union territory of:

(A) Andhra (B) Uttar (C) West (D) New Delni
Pradesh Pradesh Bengal
T a1 ATET AGThIT Flg AT E?

() SEEIEar (@) THEOT @M AMaanfeee (@) HgHRda

The lengthiest classical epic is:

(A) Bhagwat (B) Ramayan (C) Gita (D) Mahabharat
Gita Govinda

s & fore O 3ff v wafeera @

() Hrer (@) R (31) Y& (@) gsals
The term ‘Derby’ is related to which of the following:

(A) Polo (B) Swimming (C) Racing (D) Horse riding
frar a8 fFa @ A wafeua & 2

() IheaTT (@) A (3T) T () ew
With which game is Geet Sethi associated?

(A) Basketball (B) Chess (C) Snooker (D) Tennis
AATST H TUH AR Bl ¢ Tolegial IaUSET 38 ATEeY 3UITEY 21fdier

(F) eI (@) AT @M Reaara @ v

3TTART Bardr AT

Who is the first Indian to win the “International Grand Master” title in Chess?
(A) Anupama (B) Bhagyashree (C) Vishwanathan (D) DV Prasad

Abhayankar Tripathy Anand
TTelT ST Wl leT H HRAT T4 H 35T g3
(F) AT (@ ST (@) IR (&) ufRge Semer

In which Indian State did the game of Polo originate in?

(A) Manipu'r (B) Rajasthan (C) Guijarat (D) West Bengal
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sin"'x + cos'x =7

@ 0 ®) 1 © 5 (d) & & wré
3 cos 0 — 4 sin 0 =1 Afermay o9 /=47 27 ?

(@) -1 (b) 1 (©) 7 (d) 5

tan (765°) = ?

(@) 0 (b) 1 (c) =1 d) V3

UF e & i ar e 9 i ) head I @ sifEar @ar &7
@ 1 ®) 1 © % 3
J-axz-/;dx=?

3 7

(a) %x§+c (b) %axzur (c) '27EIE+C (d) 399 & &1 981
1,2,4,5,6,7 8 4 3ial #t feat gt a1 o1 wadt & aft s & wwen
q il @Y gnghe 7 & ?

(a) 360 (b) 120 (c) 240 (d) 180

Y99 n Mpd GEATS & 991 &1 9rT fhaar g &7

n(n+1) n(n+1)2n+1)

len

@ —5— ) (b) 3

© {"—‘"2—”} (d) 57 & @ T

% feardta aier w1 2 e q@ 6ug 78

(a) ¥-13x —42=0 (b) x*+x —-42=0

() ¥*+13x—-42=0 (d) x¥*-x+42=0
10

(%-%) & e & qeaug @ &2

(@) "C, ¥y b) —"C, ey

(0) ¥C,x® P (d) 579 & ®rd 7

2 2 2 2
likh ]_+2_+3_+ ni_»
e o) I TRy TRl

n n n n

@ %

v

@ 5 ®) 3 (©



2 S wdi T
11. Jcotxdn?
(a) tanx ¢ (b) — cosecx +c¢
(c) log (sinx)+c (d) =79 & ®rE T8
1
12 I(4x3+3x2-2x+1)dx-?
]
(a) 2 (b) -2 (c) O (d) 1
13. %(sec_lx)-?
1 1 1 1
a) - (b) - (c) = (d)
: 1—x£ \fl+xd avx +1 x xz—l
X
2
14. j{l—coslr}dx
0
@ 5 ® © 5 @ =
15. qmﬁa%ﬁ4mam%m%qammilmﬁmmm%?
@ 3 ® © 3 @ 3¢
2x+y 3 53 )
16. af% = @ x g y @ A e ?
6 x+2y| [63
(a) x-%,y-% (b) x~——l3.y--§- (c) xn'—;.yr]g (d)x=_—3],y=i3
17. Qi‘[x2+y2+231+2fy+c={]$ﬁ3"§$iﬁm@ﬁmﬁqﬂ: &—
(a) @ﬂ:¢sz+xa+f (b) (-sf—ﬂ:\/gh)‘g-c
© (g-Mdg +f +c ) Mg +f-c
3
dyﬂ dgy- :
18. | =[2+— %1 order T4 degree FaTC |
dx
(a) order =2, degree =3 (b) order =2, degree =2
(c) order =2, degree-—'% (d) order = 1, degree =3
19 i m:_:’.’,?

£~ gy’ 4 5% —8r+2
(@ 0 (b) <

W

ol

@ 3

20.

21

24.

26.

29.

35.

Fren wdt whten 3

(a) 2 (b) 3 () 5 d) 6
ﬂ'-gaﬁ(—1,4)@(5,—3)%émaﬁmé1mﬂamw%?
(a) 7x + 6y —17=0 (b) 6x +7y —14=0
(c) x -2y =13 (d) 6x +7y +14=0

k@ fg 9w & fou fRd P (16, - 18), Q (3, M) UF R (-10, 6) ¥i™

(collinear) By ?

(@) -3 (b) 5 (c) 4 (d) -6

. 5 Brys & @ &= (orthocentre) %1 framT® (co-ordinate) =T 1T forad

Rt & Fram (0,0), (3,0), (0,5 F |

@oo oY  ©(3 @i
@ + iy Frafefiaa § & fad auat & 7?
(a) 8+6if (b) 2+ 11i (c) 8-3i (d) 8+31
2 !Iﬁ'f(x)-—*(xz—l)h,g(x)=(3x+1)i'ﬂ (gof) (x)=?
@ 9 +6x  (b) 3x2-1 (@ 221  (d) 3-2
| B. A H |

fr=t g (demE) & & B ‘@l 21 (Golden Gate) %&1 74T 7
(a) Fear (b) Fpat (c) = et (d) g

. 1857 & ToETe &1 Ed S a1 a17?

(a) Tdt amer HE (b) =ersh @ B39 il
(c) Wit & o &1 dig i § P

(d) @ f &1 y=w
. TS 99T & 949 HEAT & § —

(a) Tl (b) B (c) &= (d) o
| w78t & ooy fREe fomn & 7

(a) <rerdt Tewa oSt (b) GEHE THATS

(c) TEr v e (d) uT =g arEne @t

. Hf¥e @9 @ gy "R (Drafting Committee) & 31eaal & 47

(a) o Hrorg ardea? (b) FATE(S® ABH

(c) TTER FEeYE 120 (d) =fo TE= wHEE

‘FErgsl’ (Kuchipudi) T Fd &l qag g T 4 % ?

(a) fa=m (b) &T@ (c) aftrears (d) A NEW
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45.

sl Hal qU0s0

‘T (Cue) 7= 58 @o F Hdfem & ?

(a) 2 (b) Afeads (o) =@w (d) drer

eget Ao ARG § el fag & ?

(a) = (b) T (c) a7 (d) w=TdrETT

Tl ifafteg feasd afy Seerdt dar &7

(a) Trezafa (b) wemEH (c) @@= (d) Femaw =Eea

“Sf{9F %’ (Operation Flood) &7 da% fed & ?
(a) AT TG & (b) fooes saET &
(c) wodl & REm & (d) g8 SEET &

. ‘e 7=’ (Gol Gumbaz) F&f ftge & 2

(a) weEgT (b) = (¢) swma (d) dremge
Fuas <rs @ gl R &t £2
(a) 42-19 km (b) 42:39 km (c) 4488km (d) 4523 km
‘839 HAifq’ (Doctrine of lapses) f&d Tasit oo & daftg &7
(a) &7 (b) @ranfew (o) = (d) sodsr
‘g1 %9’ (Durand Cup) & §au fea @@ § & ?
(a) Fedhe (b) gl (0 Fwdles  (d) e

. U & Raw 9w Awr # ?
(@) 155=ad  (b) 9T (c) 8wrd (d) 5 fa=

26 Fail 2008 & ST FUSIHST FRHH & geg afafy i 47

(a) Zo @iftar & Trezufe (b) Fea qUZar
(c) =TEMIR geir (d) Mo Tt
. AT G § fha weR # e 2 =rae &7
(a) 2 (b) 3 (©) 4 (d) 5
qETI BT 9T TE &9 g A1 7
(a) 119130 (b) 152630 (c) 155630  (d) 1761 %0

. BEfm AF =f & 5 § @ear a S 22

(a) wodlf (b) @ T (c) vt
‘Tt 92’ (Gadar Party) @ =a=r feay @ 47 ?

(d) ¥ & & T

(a) =TeT 8T (b) TE=x

(c) = gE= wEM™ (d) 579 & T8
‘|redr arered’ (Khalsa Movement) 3 smog Bear ar?
(a) 7% ifa= e (b) 75 FTEEgT

(¢) 75 a9 &9 (d) 715 TmEr

49.

%

ﬁT"
&-.'

s 2!

AT Sl gaEm 5
g8 @i AT (Purity) Bead ardy sy &2
(a) GEIERZT & (b) FHHRT & (0) MATHIETH (d) TR &
‘S e’ (International Court of Justice) &&f & 2
(alq{aﬁ (b) =@ifirres gro Hio
(c) = & (d) ST
‘T=perd forarEe’ & A fEa faar ar?
(a) 728 3HEO (b) gl wHT S
(c) T=SET AR (d) wEr g EE
. ‘i &% (Mein Kampf) Ga@T e 87
(@) geifeit b) FofemT (@) Rest  (d) 3 & B AE
g9 Ud e 2F gk €, 9 & A 99 ud fres & ueee g —
(a) #feor 2 (b) @Ry &
_(é_),?{aﬁsr,waﬁm% (@) =% F FE T8
gﬁ’t%m%wmﬁtﬂgaﬂqﬁ—
(a) m2m (b) azm
(c) smfiafda m (d) 399 & & T8
. 89 5ura% are iy &1 geaw aftord fEaw g=w #1 B ?
(a) 40 (b) 13 (c) 3 (d) 16
. 99 3R WY & PES Bl 5—
() sz (b) T (c) o (d) am

. U T T AT B HEHAT e—

(@) 1 M) 1aafeE (o) 18®&9  (d) 399 & &P 4851

. B H fohae dee g &0 suge e smer & 7

(@) 80v (b) 440v (c) 200v (d) 220 v
. iz & =fs 15 e ofy §dvs & uF wE 37 § 15 890 a afa q E,
& a5 &0 BT 99 B T g Ei—

(a) 225 wiex (b) 300 HreT (c) 500 (d) 99 & HIE T
. BTG HIT A BT e—

(@) w3 & syl & (b) ST & I &

(¢) Svdaa a1 & (d) 38 & B T

. < FAT (Latent heat) F1 SI 9@ &1a1 8—

(a) 5@ | fFmo  (b) 5B [ We  (c) @A (d) 379 & g &



o

60.

61.
62.

63.

65.

66.

67.

69.

BLLAT R | B 1 | B Y AT )

Rl o @Y Sy & AT T—
(a) THE vy gat &Gl € |
(b) wEat Rafier gaf e &1
(c) Tuar Refersr ol Tl &1
(d) Tt i g Rl St ST aedt & |

adur (Mirror) & fou P 8 & &9 wdr £ 7

(@) r=f ® r=2 © 2r=f (@ f=3r

TexHE (Rutherford) ® T g deiferg 23—

@ a-m7F (b)) B-FUE () y-mWF (d) 3 & oof
P (Switch) aef @41 SIIT & ?

(@ Zxawd () MWARE  (Q AT (d) T PE A
. T ST & fou g @991 (Mirror) &1 w1 fear simam &7

(a) ST (b) SETS (c) guae (d) 79 & &1 78
100 Q, 60 Q ToT 40 2 P TAGH fe e a1 2, afX gae Sofiwg ey ?
(a) 40 Q (b) 1400 (© 1440Q  (d) T & B¢ 7
X-feTor 1 g e 2—

(a) 3 x 10°i/do (b) 3 x 10"5i/Fo

(©) 4x10°%Fo () T & w7
&g Sfres @ (Half life) FUET g 32—
(a) 049 x &7 Rerti et
0.5 4 b
(c) oy (d) z79 & Eb*‘a‘ T
. 1 KWH a& 8rr &—
(@) 36 x10°F® & (b) 36 x10°5@ &
(©) 56x10°5@ & (d) 9 & #i 7
At Fads G —

70.

71.

(a) 75 & samm PR & 1

(b) gt & ag & gl T Freft wzan &1

(c) Tgalt & segwre €9 T & w=as &ar ¢ |
(d) =¥ 2 fafey qr i & &

afe a9 aegrn wrg, 1 TERGAT TONE H AH—

() ez wrar & (b) d¢ T & (c) Faw 7man & (d) o9 & wer &
CnHZn~lmiﬁ%F
(a) TwhT @ (b) TR B (c) TehrEA B (d) THH F FrE AE

CRERETREL TANEY TRAAAR Fi

72. @9 Ud H41¢ U1 & 39ad9a (Refractive Index) 21d1 #—

(@) 1§ &7 ) 17 3ffE (c) 28 e (d) 799 § F12 T2
73. &t SIS B—

(@) smafd & (b) HrF @ (c) Ssm & (d) FT @
74. Frafeflad 7 & &= @l (Vector) 87

(a) 9 (b) wfcr (c) a1 (d) smam
75. St & A=% (Unit) &7 2 7

(a) Az (b) Redmamr/gar (o) @ (d) Bfea

| D. ENGLISH |

Directions (1-4) : Read the following passage and answer the questions very.

carefully :—

Not only does the lack of education among women make the
dissemination of nutrition education difficult, it appears also to be a major
obstacle to compaigns for family planning. It is significant that one of the
more successful family planning efforts has been in Korea, where literacy is
over 50% Thailand, Singapore, Hong Kong and Taiwan have also had more
satisfactory results than, for example, Afghanistan, Pakistan, Bangladesh,
India or Indonesia, where a large proportion of the female population is
illiterate. The education level of women is significant also because it has a
directimpact on their chances of employment; and the number of employed
women a country’s total labour force has a direct bearing on both the gross
national product and the disposable income of the individual family.

76. Koreahasbeen successful in family planning because the Korean women
are :—

(b) well-educated
(c) literate enough to understand its significance

(a) well-employed

(d) exposed to nutrition education

77. The countries where family planning programmes has been satisfactory
are : -

(a) Thailand, Singapore, Korea, Hong Kong and India
(b) Thailand, Afghanistan, Korea and Pakistan
(c) Korea and Indonesia
(d) Taiwan, Hong Kong, Korea, Thailand and Singapore
78. According to this passage, a woman'’s lack of education has a direct
bearing on
(a) the GNP of the country
(c) the total labour force of the country
(d) her knowledge of nutritional value of food

(b) her chances of getting a job



8 BicEil el

y Ortl]i 0tf tl?e R A ¥ E:;u::dl::‘lary (b) inferior (c¢) famous  (d) unknown
E;) ;ntns{be persuaded to plan their families . D_im"'ﬁon Oy Tty siee comreck COPH R o e
. following words:
(b) do not know how to cook nutrious food 99. Inflexible
(c) cannot earn more money (d) cannot communicate well (@) firm (b) fixed (c) stiff (d) yielding
Do as directed : . : 100. Diffused _ .
80. People called Gandhi, Bapu. (Change into Passive) (a) dispersed (b) loose (¢) rambling (d) concentratgd
81. He said, “God rules and governs all things”.
(Change into Indirect Speech) EA
82. Sheis...... untidy girl. (Insert Article) A. 7o
83. This picture (a) / is the best (b) / of the two. (c) / No error (d) 1. (© 2. (d) 3. (b) 4. (9 3 e}
: (Find out the error part of the given sentence) 6. (a) 7. () 12- ?:l)) 13’ E:; ig ((lt;:;
84. Afree'pressisnot'a privilege (a) / butthe organicnecessity (b) / in a free %tl‘: E;% 3 E;)) 18‘. (a) 19: (d) 20. (c)
society. (c) / No error (d) (Find out the error part of the given sentence) 21: @) 22. (d) 23. (a) 24. (b) 25. (d)
85. Pick up the mis spelt word :
(a) writing (b) lightening (¢) leutenant (d) lighten BEBRIES N 28. (0) 29. (b) 30. (a)
86. Gulf (Give plural form) s e 35 (a3, A ) 35. (d)
87. Greataunt (Give masculine word) 36. (d) 37. (a) 38. (d) 39. (b) 40. (a)
88. Give past participle form of verb — Bleed 41. (d) 42. (b) 43. (b) 44. (o) 45. (a)
89. The Queen Elizabeth is a famous British liner. 46. (a) 47. (b) 48. (o) 49. (a) 0. &)
(Pick out noun and State its kind) C. ==
90. The intelligent and educated group or class of a society or country. 51. (b) 52. (a) 53. (b) 54. (b) 55. (c)
ek ; (Give one word) 56. (d) 57. (a) 58. (a) ol (:) 2(5) ?:l))
91. Wolves : howl : : Crickets : ...... (Fill tn the blank with suitable word) a1 (b) gg (z)) 23 E:; gg &c}) 70: (c).
Direction (92-96) : Fill in the blank with suitable words given in the choices : ?,? E:; 72 Eb) 73: (@) 74. (a) 75. ()
92. fli)mfa has been wag)inf, here for her teacher ...... thr;e weeks. D. ENGLISH
a) for rom ¢) since :
93. Veena is married ( ........ Mr. Thaku(r.) o i 1o- 80, 51,89 I explagatn é‘@ 1 82. an
76. (c) 77. (d) 78. (a) 79. (o)
(a) with (b) at (c) between (d) to 83. (b) 84. (b) 85. (c) 86. _Gulfs. :
94. Ata party he is always ......... : 87. Great uncle 88. Bled  90. mtelllgents;; &
(a) in high spirits (b) in low spirits 91. chirp 92. (a) gg ES)) gg Efl)) 100 (d)
(c) in a jiffy (d) in the mire g © L ‘ :
95. Thefi::.... government at the centre will not last long.

(a) collusion (b) collision (c) coalition (d) coloration

96. Wineis madeina.........
(a) brewery (b) bakery (c) factory (d) wardrobe greay
: i W Va +b B 2l
Direction (97-98) : Pick up the correct synonyms for each of the following 2 (d) - acos@=bsinfa sl s
words. i, 3 cosO —4sin® BT AfHETT TH = V9+16=5

97. Fragilo = (b) tan (7650)= tan (2 » 360° + _1,f|°) =tan 45° =1
(a) durable (b) robust (c) tough (d) breakable

1. () sin'x+cos'x= %




OYSE

T Il odien @ f&v

MODEL PRACTICE SET -2

10.

A. O
3] 4 1‘5Pr_1 . ”‘Pr_3=3:4fﬁ yo=7?
(a) 8 (b) 14 (c) 12 (d)
F+53+6+ ... +10° =7
(a) 3010 (b) 2989 (c) 2685 (d)
1)
(I+%) A dx @A gs F a1 & 7
(a) 256 (b) 252 (c) 352 (d)
1
m (1 -x)x =7?
x— 0
(@) e (b) & (c) ¢? (d)
2
jl X ldx =7
— 1
5
@) 2 (b) 2 (©) 2 (d)
qfe dg!)=— . 3 ar m o= ?
1+ x
(7)) cos'x (b) tan-'x (c) cotlx {d)
— 4
gl y=x/5in1'+~/5inx+v‘5inx.“ ail (%:.
— 51N X COS X 2 COs X
@ 705 0 3 @ 955 (@
TE sin A +cos A =19l sin 24 = ?
(a) O (b) 2 (c) 1 {(d)
1l a b+c
1 b c+af=7?
1 cas+h
(a) O (b) 1 (c) -1 (d)
- 1
J’tan U.‘L dx — 7
] + x° -
{a) (tan'x)y + ¢ (L) ﬁanj + ¢
(¢) 2tan'x +¢ (Q) 399 g FIZ T8

17

10

305{)

120

cosec 'x

— Q5 X

2y -1

a+ b+




11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

tan x - tan y )

lim

Xy X=Yy

(a) sec’y + tan?y (b) secy (c) secly (d) T ¥ &g &
T FiaTor 222 - 21x + 49 = 0% & E— |

7 7
(El) (7; - E) (b) (—7 ,E)

o (b3

7
o (2

T—
(@) 2x -3y =7
(c) 4x +3y =8

(b) 3x +4y =9
(d) 3x —4y =18

FHIEHT 22 + 2y — 2x + 12y + 10 = O Freafofiag & & Rrgepr aftetor & 72 :.

(a) t@m g
(c) € (ellipse)

Ellipse 3x? + 4y = 48 & Bihg &—

(b) TT3T (parabola)
(d) effautasa (hyperbola)

(@) (0, £2) (b) (=2,0) () (3,00 (d) (0, =3)
y-3& & & BT (Direction cosines) §—

(@ (1, 0, 1) (b) (0, 1, 0)

(c) (715 0 :}7) (d) 579 § B T

a2 0 giem ?+5_}T+5k} g -§+§+;$afra$r#rw€reﬁ cos B =7
a) O © 2 d) 2

e t;I=5,I §i=2qa" :-Lg,ﬁ‘r 1;:{;1=?

(a} 10 (b) 8 {c) 6 (d) 12
V2+/2+ 20548 =2

(a} sin 20 (b) cos 28 (c) 2cos B (d) 2sin®6

U A I U T & fRAr @et @ A & g@y B uw Rud uw O B

it &1 I @ivr 60° T R 1 TfE g7 @ g § 50 drer BB weaT £ oAy
I BT 30° & FT & | 98Y & 9= o &2

(a) 25v3 Hi2z (b) 204Hkx (c) 203 "2 (d) 25 ey
Cusl(l thr;;)=?'

1+x
(a) tan'x (b) cos'x (c) 2tan'x (d) 2 cos'x

3x —4y +5=0% FAI G7 W@ & ghEw o (2, -3) ¥ ErwT T

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

141 Hdl Y=t

AR
.aﬁA=;_ ar A2 =7 wel 2=-1%|
|
0 0 -1 0 1 0 1 0
(a) (b) (c) (d)
0 O 0 -1 -1 0 o0 1
gi¢ a,b,c GPH & @ loga, log b TF log ¢ F=fefaa & & feed &1 ?
(a) AP (b) G.P (c) H.P (d) 9 9 B3 T

Uh S H BB T 5% % Bl 39 43 9 d9 92 M 1 949t & 313
ZI @ T STkl & ?

(@) 3 (©) 355 © <3 @

U g oI I 91 3BT T U& head AT &7 head ST @ TRIT WTARAT 8 ?

(@) 3 ©) % © 5 d) 3
B. O S

=1 & 9IS &1 599 937 98 (Planet) 19 &7

(a) ot (b) gu () gesmmla  (d) T

Frafoflaa § 4 @-91 98T 91 4 & fER Rea @i 87

(a) ST (b) meu (c) BiER (d) R

T e et gy we ¥ 7

(a) IS FBIGL M= (b) WTSET UH

(c) =vur s (d) 378 § Bi§ &

'BRgE =fs arel’ (Forward Block Party) @t wnmaw ot &t 2t ?

(a) Sfo Tor=HAE (b) ARIeE Ae® (¢) ™ T6(d) guw 9% 99
YR § 999gH 4! &1 TSI &9 5T 97 ?

(a) 19693c ¥ (b) 195630 8 (c) 1935%c ¥ (d) 99 & &S AL
g gdiege offe @138’ (Indian Institute of Science) &2t ag & 7

(a) =2 RS (b) TR (c) u=T2 (d) sETSH
fasg & R 297 O BracHig Rranfyer o gz 8 7
(a) To 3hiBT (b)) Ho Uo IHRHT (¢) 3M=dr  (d) &AmET

g Tggd (UNQ) &1 =919+ &9 83 df 7

(a) 24 FAFAT, 1940 (b) 24 TFET, 1945
(c) 24 fHa=L, 1945 (d) 24 RE=T, 1945
fedra fasagg & 31 %a gafm a1 7?
(a) 2 FHa=y, 1945

(c) 2=, 1946

(b) 8§ R, 1944
(d) T9H 7 BIg FET
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35.

37.

38.

39.

41.
 (a) AR I TTE

43.

45.

47.

48.

49.

Al Hat HO4]

Ty s Raw’ (World Population Day) && A-IRIT STl & ?

(a) 55 (b) 11313 () 11 (d) 149
. GEfbe (Bicycle) &1 anfassr fhat fear ar ?
(a) &I (b) F@e () A®PBrest  (d) wiew
JRIE & FAGT & H 4T 91 7
(a) T (b) ®EE (c) l& (d) ®lg
TEOAT Thd e & U9 @l Taul BeEt o ?
(a) IEKR (b) IgaEY (c) ®YgS (d) TG
qrd gdal &1 T (City of Seven Hills) f&& &st Srar & ?
(a) TH (b) “ioged () R (d) z°° 4 &8 A&

‘O I THYE SifteR € — a8 saa feaw wer av ?
{(a) 9B TN o6 (b) = o a1e

() gER W & (d) 9o STATER IS ITE
‘fé~e wmaar’ (Hind Swaraj) 5% @ 3@% 31T 3 ?

(b) wETHT TfE

(d) 579 § &g T&

(c) I® T Ao

. 9@ g9 (Mauryan Dynasty) &7 9%aa® &9 41 ?

(a) fegER () o= 9 (¢) T (d) HMw
‘w@dl’ (Scurvy) TmE 7 69 e At s A Sar 3 7

(a) RefmA () REfEB () RefwC () f=FED
T qfye F afola difes aftre waf 4 foar w8 ?

(a) @fEor amnir (b) Ho To IWRST (c) §95 (d) RS

T T ydts g (National Emblem) ¥ faaw Ik Ra 2q 82
(a) @ {b) (¢) TR (d) =&

aa &1 a9+ ga9g (IST) H=ifee aug & foha-n s & 7

(@) +53 51 (b) SyuEA () +b3HA
we J&Esl ‘9ifE FHT (Short Corner) Faq aafaq &7

(a) Geal (b) hde (c) &fnr (d) didEte

R & 999 ST IuqT & A F= i ¢ 7

(a) sREiwez (b) HIEHL (c) FTaz (d) 39 & BIg T
IFEH B ‘BONCN AT T [T 93] 3 fow afég & 2

(a) T® dimare #= (b) T%g T™

(c) T o (d) 7@

(d) —6% g

. UL SH-T0-79° & IRIGr & & ?

(a) = 19 TN
(c) TP B

(b) FfpT T Tt
(d) 379 9 ®iE 98

C. =

(Force) @i uftsmet =g & i & fhg Fgg § amar & 7
b (2) vom P & () g Fam & (o) frarFrEm(d) T § PIS TE

aﬂéﬂ (Impulse) FUa Bl §—

. (b) @i aitadq &
(o F oRed & D (d) Fia 3T H
et ey (Voltmeter) d o et 1 = &1 &—
43) SRR (b) A () aftrpa® (d) gAdH
L st o (A.C) @1 Sare e A
(a)ﬁgqgaaﬁam%famér (b) St TEw & fafa &
c)ﬂﬁwmwa'%i%l@ﬁ@r (d) 798 & DS T
1 wre@dr (Electrical Conductance) &1 A6 t—
(b) N (c) e (d) TR
F oIt By fage So1t § qGo gl SUHT HESKIT &—
h)ﬁ'gﬂ;@l‘a ) Freg e (o FBEgg 9 (d) T & BE TE
bags s @i & W g 30 Ffto 3, 60 Ffto A ot W @ T

)rrs?r

# ) 30 em (b) —30cm (c) 60cm (d) —60cm
JOET T E—
' 3.08 x 10%m (b) 3-08 x 107m () 3-08 x 10*°m(d) 8 § &g T8l

mﬁ%—
mqw (b) aqﬁvxfa'{ﬂ (¢) St aCT(d) 1 § B el

mﬁaﬁ (Nucleus) & 91g S1d &—

B ) PRA, e (b) SR,
B wn owe @ T & @
ﬂﬁﬂfﬁ (Polythene) fraat ages (Polymer) ??
f) CH, ) GH, © GH, (@ GH,

@ﬂ&ﬁwémméﬁmmﬁmm%?
(c) Ffagsar (d) TATI

B (a) 625x10 TR
< ol 15
Bci(c) 625x10 THAT



29 A et afa

64. 10 9 9% & —10°C & 0°C aa 9% & a9 3 9519 & v fBay S
HT H TG FHAT BN ?

(a) 40 dord (b) 55 #=rh (c) B0&F=H  (d) 60 Derd
65. 351 &1 fram, 7 & gxaror Frag &1 qftome £—
(a) oAy (b) o (c) == (d) Tt

66. Ut IJAEH{ gadar &—

() ACTRT & DCARI & (b) D.CIew &) A.C A B
(c) M1 ACTRw & 39 A.C9e ¥ uy fvfia ®9 §

(d) T & B T
67. 387 (LASER) &7 wa7 2@y 8— |

(a) EaR TEMIFA A (b) ramEe gom # (c) g & F(d) =9 ¥ B T8
68. 200V ugd 100 W 3 TF e HT 90T ET—

(a) 209 (b) 50 (© 20 (d) =% ¥ =i T8
69. Tfx el ar &1 9 T & & s FF AR & Fem—

(a) ST (b) I (© I (d) = T
70. 36 cm IHA1 Broar ae 39 @ By g Erfi—

(a) 10 cm | (b) 12cm (¢) 18cm {(d) 24 cm
71. $OF & AfAsHR feasy By a1 7

(a) XwIE b) = () g (d) 39 § B T

n.ﬁ?ﬁwﬁmwwﬁﬁomﬁa%ammawsmﬂa/%a% ar
I Aafy F=ifefaa & &= s ?

(a) 660 Hz (b) 550 Hz (c) 670Hz (d) 560 Hz

73. 15 14 1 & BY 1 kg & 989 W A g9 o afe awg 14 &
% & R § frenfyg &y ?

{a) 1IN (b) 2N (c) 3N {(d) 4N
74. &HA (Induction) F1 7515 E—
(a) 2™ (b) @ (c) AX (d) &
75.mwﬁamwa%ﬁazmﬁgqﬁ;ﬁwahaﬁeﬂﬁgmﬁmm dl
qrafeld oo frasr foft & g oy 22
(a) 26° & by T3 (c) 36°F  (d) 46°%

D. ENGLISH |

Do as directed :
76. Did he sing a song ?
77. The news is too good to be true.

(Change into Passive Voice)
(Remove “Too’)

e vt alam 23

r-_‘. hobhana said to Bhavna, “"Have you a car ?”

' (Change into Indirect Speech)
. Give plural form of ‘Brush’.

} Give Feminine word of ‘Governor’.

_t umtaj Begam was marned ............ Sahjahan.
'-Sanskrit IS v, difficult language.

kEither he or his son ........... done it.

'- (Fill in the blank with suttable form of “verb to be’)
0ne hundred year is called .............. : (Give one word)
__{l’ forbade him to disturb me. (Change into Direct Speech)
pNecesary (Write correct spelling)
DGR I L — . (Fill in the blank with suitable word)
fHue and ............... . (Fill in the blank with suitable word to make it pair)
ovely, a, what, is, place, it !

: (Rearranged the jumbled words and make a meaningful sentence)

5; jam going to americamy father will accompany me will you like to join
(Punctuate the given sentence)

45 meone stole my pen, .....? (Fill in the blank with suitable question tag)

: 11"
F-A dog runs faster than a cat. (Change into positive degree)

Direction (93-94) : Pick up the correct synonyms for each of the following

(Insert preposition)
(Insert article)

) r" "
||_ ;. 1
""i' X

. Ext:ract (b) Induce (c) Divulge (d) Instil
"::é.i $iethal
ﬁ} Dreary (b) Dreadful (¢} Deadly (d) Strange

irection (95-96) : Pick up the correct Antonyms for each of the following

., R} Agree

!mcury
(g) Sadness (b) Treachery (c) Duplicity (d) Austerity
Du'ectmn (97-100) : Read the following passage and answer the questions
. Wy carefully.

. Acertain king once fell ill and doctors declared that only asudden fright
Buld restore him to health but the king was not a man for anyone to play
s on, except his fool. One day when the fool was with him in his boat,
hcdeverly pushed the king into the water. Help had already been arranged
Bl the king was drawn ashore and put to bed. The fright, the bath and the
M in bed cured the diseased king; but he was so angry with the fool that
‘turned him out of his country. The fool returned however and the king
ered him to be put to death. Saying privately that he would only repay
t with fright, he directed the executioner not to use the axe but to let fall

Ingle drop of water on the fool‘s neck. The fool was led to the gallows. The
Wecutioner dropped a drop of water on the fool’s neck, and amidst shouts

(b} Accept (c) Embrace (4) Adopt

] ' .-I.-:I. . g



AT Hdl Y&

; o= wdt aen 25
'-'-(b) P+5+6+.. 10=(12+22+3F+ .. +10)~-(1>+ 23+ 3%

2

and laughter; the fool was asked to rise and thank the king for his kindness,
But the fool never moved, he was dead - killed by his master’s joke.

97. How could the sick king be cured ?

2
_ lm(w*”] _(3(3”)) _ 25 x 121 — 36 = 3025 — 36 — 2989

98. Who alone could afford to play tricks on the king .and why ? _ 0 Z :
99. What did the fool do in the boat ? L 1 fra 8
100. How did the fool meet his end ? ) (x ¥ E) b A
| I B ' t ,, ="C " ;1; =10C x°-*
A. ﬂfﬁl?(lb) xﬂaﬁgqﬁ'%%qlﬂ_Zr:[} = r=2
L. 2. (b) 3. (b) 4. (b) 5. (a) 10
’ - 10x9x8x7 x6
6. (c) 7. (b) 8. (a) 9. (a) 10. (b) Ha:, x ¥ @AH 98 = C, = |l5—f-3 - 3T = 22
11. ?:)) 12. (c) 13. (d)  14. (o) 15. (b) |
16. (b 17. {c) 18. (b) 19. (¢©) 20. (d) = }-lug(l—r)
71. () 22. (b) 23. (a) 24. (a) 25. (d) | ”" Sim (d-x)%=lim e
" i:-'
B. 4™ s . 1 ( 2 3 ) 9
. :I; il X X —
26. (c) 27. (c) 28. (b) 29. (d) 30. (a) B  _ Lmex\ © 2z hm E( 1-5 -2 et
31. (b) 32. (a) 33. (b) 34. (a) 35. (b) x =0 - ¢
36. 5;)) 37. (d) 38. (a) 39. (a) 40. (a)
a1, 12. (b) 3. (0 44 (b) 45. (b) J‘ f f
- - a |xtdx= Ylxldx+ §lxldx
46. (a) 47. {(c) 48. (a) 49. (a) 50. (a) ( )
C. famm= o - 2
51. (a) 52. (b) 53. (a)  54. (a) 55. (a) o il X" 1 1 5
56. (a) 57. (c) 58. (a) 59. (b) 60. (b) = - f:r dx + fx dx = 52—* 5| = —I - 5|+ 12- 0]=25 =7
61. (b) 62. (b) 63. (c) 64. (c) 65. (a) 1 B
66. (c) 67. (c) 68. (d)  69. (a) 70. (c) ¢ ) I * (oot 'x)=—5
71. (c) 72. (b) 73. (a) 74. (d) 75. (a) 4 L+x
D. ENGLISH | y = Vsin x + Vsinx + /sin x + ... = y=sinx+y
Q. No. 76, 77, 78, 85, 89, 90, 92, 97, 98, 99, 100 &1 explanation 3 | Z  differentiating both sides w.r.t. x
79. Brushes 80. Governess 81. to 82. a e dy dy dy dy cosx
83. has 84. century 86. Necessary 87. snow i V=X = %y-D de T T dxT %y -1
gg cry 91. didn't they 93. (a) 94. (c) | ,,g, (a) . sinA+cosA=1 s (sinA+cos Ay =1 .
. (b) 96. (d) - _ | | = sinf A +costA+2sinA-cosA=1
‘Gﬁ'{m =» 1+sin2A=1 = sin2 A=0
_ lab+c| |1aa+b+c
A. Ty (=) [1bc+ral={1ba+b+c|lc,+c)]
1. (b) l— I— —3-4 1ca+b lca+b+c
116 - r |18 r - 1al
={a+b+0)|1b1|={@a+b+c)x0=0
. _:1[_5 (13—r)(17-r)[—-i_§ 1 ¢ 1
|16 - 16 |15 4 1
(18- 1) (17 - 1 ) T fantx =2 e
-ry(17-r) 3 | lex
== T =7 = (18-r(17-rN=4x3 1 2
= 1R-r=4 = r=14 i - ftan dxy = f dx—*2‘+£‘ (tan I)+C
) 1+ .r




57.

62.

63.

64.

68.

69.

70,
72.

Lh B L% L e Y B | )

-C.ﬁ'sl'ﬁl

(c) dfF sraas qdur H BHA T (P = 30cm
o Al BRI (r) =60cm axIgll u =60 cm
R mq siferst & a5 we & & ox awar &= w @ T E, o@: O

g ahdl &= W & IV Fiie THal dx 9 @I ag] H qfafy
ahdl Hw G & Far 31

(b) Frepe gite & gur & U saae 39, T gfte v & gurr F7-
foq Iue 2¥F, STU-ghe & gurA & v Zosdr (Bifocal) 39
ARZHAT (Astigmatism) & X FA B T FTHR IF (Cylindric
Lense) @7 W4T &1 & |

3_

(a) oF Pt TR =10 A
I=xe & I=99% 4 gafsd o,
e=16x10  &FF
me=mﬁ?gmﬁwﬁaﬁ%ﬁﬁﬁﬁm%l
- xn%ﬂl-ﬁiﬂm"g = x=7gx10" = x10"
= 625 x 10" Tdry _
() ¥fF, 9% & AT -10°C &/ 0°C AT ¥ | a/: 39 Q Tbar F o9 & aftay

AT &, dATET § TEY |

= H=10x05x{0-(-10)} = H=5x10 =50 Fo
(d) BT V = 200 volt P = 100 watt
2
Eqmﬂ-a%—RJ’;, =2m1;)2m=4009=4009
(a) &9 IMQ &, fr—
| 2
R L
~R—2=(L—2) AT AT g 8-
1 1
2
Ry (2L,
aqel— L, = 2L -RT(L—l) =4 = | R,=4R,
37d: HTaRIer are I[AT 8 A |
() P gt = T _ 36 qpy _ 18 8o
(b) W7 q—
A =0-6 HTeT v =330 o [ Fo
U =nh
v - 330 3300

(a) B9 SIFd 8— W = Fx
= 1=Fx1 = F=1N

D. ENGLISH

76. Was a song sung by him ? (Passive)
y7. The news is so good that it can not be true. - |
3. Shobhana asked Bhavna if she had a car. (Indirect speech)

Brushes, Brush @! plural form &/ar & |

g @—

Singular Plural Singular Plural
Dish Dishes Cas Gases
Glass Glasses Lose Losses
Bench Benches Box Boxes
Quiz Quizes Tax Taxes .

£1% singular noun @& 3 ¥ s, ss, sh, ch (d) x or z @AT & IUSH plural
formation ‘es’ SiIS&ET fpar AT ¥

0. Governess, Governor @I feminine wordZ® |

g W— |

Masculine Feminine Masculine Feminine
Inspector inspectress Instructor Instructress
Negro Negress Tempter Temptress
Traitor Traitress Waiter Waitress
Prosecutor Prosecutrix Testator Testatrix
Executor Executrix Administrator Administratrix

81. To, Married ® 919 ‘to’ preposition &I TG EATE | FT: to & I

- <l

UGS B

T [@—

Word Preposition Word Preposition
Yield to Supply - to
Succeed to Present to
Introduce to Keep to
Lead to Object to

. has

e gfre subject, either ... or, neither ... nor, not only ... but also, or
L} JShT sentence & subject % &G H BEGE &I df or, nor, but also & 1%
Tgh subject & number AT person & SIHR verb &I ST 8T 5 |

)

L.e. Neither Manisha nor Monika was present there.
5.8, 5.5.

Neither Manisha nor Monika were present there.

5.V,

(x)

5.5. 8.5, p.V.




84.

85.
. Necessary, Necesary & correct spelling ¥ |

87.

88.

89.
90.

91.

92.

Century (3], & a9 & g99)
AR W—
1. An event occurs once in two years. — biennial (Faenfees)

2. A fifteen years old person—adolescent (33ZaWg =ik /| I3F)

I said to him, “Don’t disturb me”. (Direct Spes

ANE : 3T A=K T spelling HAFTEE® ITCE {9 Hl—

1. Changeable (v)  Changaeble (%
2. Manageable () Managaeble (x
3. Advertisement (v)  Advertigement {
4. Superintendent (v}  Superintendant (
5. Physically (V)  Physicaly (4
Snow

qE @— -
1. Asred as blood 2. As black as coal

3. As loud as thunder

5. Assweet as honey.

Cry : hue and cry pair word 8 | 31a: T8l cry S9g% word § |
qe TW—

4. As soft as wax

1. Bag and baggage 2. Doctors and nurses
3. East and West | 4. Gold and Silver
5. Slow and Steady 6. Ups and downs
7. High and low 8. Law and order
9. Ladies and gentlemen 10. Bread and butter
What a lovely place it is !
I am going to America. My father will accompany me. will you like
join us ?
didn't they ?
T : someone, no one, anyone, everyone, everybody, somebody,
body &1 54T sentence @ subject @ &7 ® &I 947 question tag a9
I, d question tag & subject ‘they’ & ! |
1.e. Every body is your friend, aren't they ? i
A cat does not run as fast as a dog. (positive degh
T : comparative degree ¥ positive degree ¥ 8 T&H IT3T ATAT &

93.

94,

95.

96.

97.
98.

9,

A dog Tuns faster than a cat.
S Vv C.D. O
A cat does not run as fast as a dog

v v v v

5 \% P.D. O

Step (1) : Comparative degree & object N positive degree ¥ subject @l

e e |

Step (2) : Comparative O not & 9T & @ positive g not &1 YAFT &

&1 | or comparative ¥ not @& ST & & 91 positive ¥ not &I
ST

Step (3) : Comparative ¥ WGt tense F4T verb &1 ¥4 & |
Step (4) : Comparative form of an adjective &Y positive form of an

adjective ¥ §TIHL SO ...... as [/ as ...... as & 99 & |

Step (5) : Than I &1 2 |
Step (6) : Comparative degree & subject ® positive degree %I object

T % |

(a) Elicit (vt) : & O &1 Aesar

Syns : draw out, deduce, bring, light, extract, derive

Ant : Insert

(c) Lethal (Ad).) 91d® : JIHIH

(b)

(d)

Syns : fatal, deadly, deathly, dangerous, noxious, poisonous
Ants : harmless, innocuous, safe.

Reject (vt) FEHI HET, T9¢ T HIEAT

Syns : disapprove, discard, refuse, repel, exclude, jilt

Ants : accept, choose, select (FIER &)

Luxury (n) faerfar, e

Syns : affluence, indulgence, pleasure, extravagance, bliss,
Enjoyment

Ants : austerity, essential, poverty (ﬁﬂ'ﬂﬁﬁ H G, &)

The fright, the bath and the rest in bed could be cured the sick king.

Only a sudden fright would restore him to heal

but the king was not

a man for anyone to play tricks on, except his fool he wanted to trouble
the king. d

Oneday when the fool was with him in his boat, he cleverly pushed the
King into the water.

100. The executioner dropped a drop of water on the fool's neck, and amidst
shouts and laughter, the fool was asked to rise and thank the king for
his kindness. But the fool never moved, he was dead.

W
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